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Intro to Calculus
Chapter 3 PRACTICE Test (3.4 - 3.6)
You must show work to receive full credit!
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1. What is the instantaneous rate of change at x = 3 of the function f given by f(x) =
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3. A particle starts at time /= 0 and moves along the x-axis so that its position at any time ¢ > 0 seconds is given

by x(t) = (t +2)* (¢ — 3) meters.
(a) Write x(2) in standard form rather than factored form. (This will make the next steps much easier®)
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(b) Find the velocity of the particle at any time ¢ > 0.

V(t)=3t"+2t-8

(¢) Find the acceleration at ¢ = 4 seconds.
att) = Lt +2
aly) =Ll +2 = 2l unitsfsec

M»F ind-th¢ value-of r when the-particle is moving-and-the acceleration-iszero.

tt2 =0
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4, Which of the following is an equation of the line tangent to the graph of f(x) = 12x* —4x at the point

where f'(x)_=_ lgman(}’)u{ls positive? 6/q = IQ_( "27/%> }' b £ éY) 3 5‘.‘3’9{2 "L! 'H%) = lj_lq/s)z_,l.l(z/ﬂﬂ
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6. A particle moves along a straight line with velocity given by v(¢) = (3x* —1)* at time > 0. What is the

acceleration of the particle at time ¢ = 3? Q it) - L% (6}{2 "’f \)3 (LD)()
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8.1 f(x)= sin(Bx), then f’(gj =
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9. What is the slope of the line tangent to the curve y = sec(4x) at the point at which x = Z?

Y =4secH Xtan (4x)




